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Ra fw;wy; ifNaL 

 
 

fzpjk; 
 

juk; - 9 
 

 

 

jahupg;G : fzpj ghl Mrpupau;fs; 

         aho;g;ghzk; fy;tp tyak; 
 

  



2 
nrayl;il – fzpjk;           tl khfhzf; fy;tpj; jpizf;fsk; juk; - 9 

 Neu; tpfpjrkd; (myF-10) 
 
       xd;Wf;nfhz;W NtWgl;l ,Ufzpaq;fs; xNu tpfpjj;jpy; 
mjpfupf;Fkhapd; my;yJ FiwAkhapd;  mf;fzpaq;fs; Neh; 
tpfpjrkdhdit vdg;gLk; 
 
 

myF Kiwiag;gad;Lj;jp Neh;tpfpjrkd; njhlh;ghd                           
gpurpdq;fisj;  jPh;j;jy; 

 
cjhuzk; - 1     
  20 khk;goq;fspd; tpiy &gh 400 vdpd;  xU khk;goj;jpd; tpiy ahJ? 
 

    20 khk;goq;fspd; tpiy   =  &gh 400 

    1 khk;goq;fspd; tpiy    =  &.400 :  20 

         =  &. 20 
 

gapw;rp  
 
01) 5 kzpj;jpahyj;jpy; Gifapujnkhd;W 240km Jhuk; nry;Ynkdpd; 3 
kzpj;jpahyj;jpy; nry;Yk; Jhuk; ahJ? 
 
02) 8 Gj;jfj;jpd; tpiy &.72 vdpd; 5 Gj;jfj;jpd; tpiyiaf; fhz;f. 
 

03) 11m1 Jzpapd; tpiy &.125 vdpd;  6m Jzpapd; tpiy ahJ? 
 
04) 12 epkplj;jpy; Nkhl;lu;irf;fps; xd;W 72fpNyhkPw;wu; nry;Ynkdpd; 30 epkplj;jpy; 
nry;Yk; Jhuj;ijf; fhz;f. 
 
05) miukPw;wu; Jz;bd; tpiy &. 115 vdpd; 3 kPw;wu; Jz;bd; tpiy ahJ? 
 
 

  *  Nkyjpf gapw;rpfSf;F Gj;jfj;jpd;  10.2 gapw;rpia nra;f. 

 
    tpsf;fkspf;Fk; Kiwiag;  gad;gLj;jp Neh; tpfpjrkg;  
     gpurpdq;fisj; jPu;j;jy; 
 
cjhuzk; - 1        cjhuzk; - 2 
 

       

36 : 4 : 5

36 4

5

4 180

4 180

4 4

45

a

a

a

a

a











 

5 : 3 :12

5

3 12

3 60

3 60

3 3

20

x

x

x

x

x










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gapw;rpfs; 
Mq;fpy vOj;Jf;Fupa nghUj;jkhd ngWkhdj;ijf; fhz;f. 

 
 cjhuzk; - 1 
 7 Ngidfspd; tpiy &.105 vdpd; 5 Ngidapd; tpiyiaf; fhz;f. 
 

  7 Ngidapd; tpiy =  & .105 

  5 Ngidapd; tpiy =  & x 
 

          7 : 5 = 105 : x 

                                                       

7 105

5

7 525

75

x

x

x







 

 

 

      gapw;rpfs; 
01) 3kg rPdpapd; tpiy &.360 vdpd;  5kg rPdpapd; tpiy ahJ? 
 
02) njhopyhsp xUtUf;F 5 ehl;fs; Ntiynra;Ak; NghJ $ypahf &.7500         
nrYj;jg;gLfpd;wJ vdpd; 8  ehl;fs; Ntiynra;Ak; NghJ nrYj;jNtz;ba 
njhifiaf; fhz;f. 
 
03) jhtuk; xd;W tsUk; cauk; kw;Wk; fhyk; vd;gd Neh; tpfpj rkdhFk; tpij 

xd;W elg;gl;L 3 ehl;fspy; 4cm  cauj;jpw;F tsu;e;Js;sJ 20cm tsu;tjw;F 
vj;jid ehs; vLf;Fk;. 
 
04) Nkhl;lu;irf;fps; xd;W 4yPw;wh; ngw;Nwhypy; 125 fpNyhkPw;wh; J}uk; nry;fpd;wJ 
mNj Nkhl;lu;irf;fps; 16yPw;wh;  ngw;Nwhypy;  vt;tsT J}uk; nry;Yk;  
 

05) tl;lnkd;wpd; gupjp mjd; Miuf;F Neh; tpfpj rkdhFk; 88cm Rw;wsTs;s 

tl;lnkd;wpd; Miu 14cm vdpd;  21cm MiuAs;s tl;lj;jpd; Rw;wsT ahJ? 
 

  *  Nkyjpf gapw;rpfSf;F Gj;jfj;jpd;  10.3 gapw;rpia nra;f.  
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ml;rufzpj  Kiwiag;  gad;gLj;jp Neh; tpfpjrkd;  
 njhlu;ghd   gpurpdq;fisj; jPu;j;jy; 

 
cjhuzk; - 1  
 8 mg;gpspd; tpiy & 240 vdpd; 5 mg;gpspd; tpiy ahJ? 
 

    mg;gpspd; vz;zpf;ifia  x vdTk; , mg;gpspd; tpiyia y vdYk;  
      nfhz;lhy;   

                                             

y
k

x

y kx





 

      vd vOjyhk; MfNt  

   240 =  8k  

    k = 30 

   y = 5k 

   y = 5x 30 

   y = & 150 
 

          gapw;rpfs; 
 
01) 6kg muprpapd; tpiy &.720 vdpd; 4kg muprpapd; tpiy ahJ? 
 

02) 12m Jzpapd; tpiy &. 960 vdpd; 7m Jzpapd; tpiy ahJ 
 

03) Giftz;b xd;W 10 epkplj;jpy; 12km gazk; nra;Ak; 25 epkplj;jpy; vt;tsT 
J}uk; gazk; nra;Ak; ? 
 
04) 30 gapw;rpg;Gj;jfj;jpd; tpiy &.4500 vdpd; 13 gapw;rpg;Gj;jfj;jpd; tpiyiaf; 
fhz;f. 
 

05) Njrg;glj;jpy; 4cm ,dhy;  24km ePskhd ghij xd;W fhl;lg;gl;Ls;sJ 

,j;Njrg;glj;jpy;  7cm ePsj;jpdhy; tiff;Fwpf;fg;gl;Ls;s ,U 
efuq;fSf;fpilapyhd J}uj;ijf; fhz;f. 
 
  

  *  Nkyjpf gapw;rpfSf;F Gj;jfj;jpd;  10.4 gapw;rpia nra;f. 

 
 
      ntspehl;L ehzakhw;W tpfpjk; 
 
 
           xU ehl;by; gad;Lj;jg;gLk; gzj;jpd; mynfhd;Wf;F ,d;ndhU 
ehl;by;  gad;Lj;jg;gLk; gzj;jpy; fpilf;fg;ngWk; myFfspd; njhif 
nryhtzp tPjk; vdg;gLk; 
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       ,yq;if &ghtpy; jug;gl;Ls;sd. 

       
 cjhuzk; - 1   
,yq;ifapd; mur rhu;gw;w epWtdk; xd;wpw;F [Nuhg;ghtpypUe;J 3000 A+Nuh 
ed;nfhilahf fpilj;jJ ,j;njhifia ,yq;if &ghtpy; jUf. 

   1 A+Nuh    =   &. 154.88 

   3000 A+Nuh  =   &. 154.88 X 3000 

     =   & 464 640 
cjhuzk; - 2  
rpq;fgg;G+u; gazk; nra;j ,yq;ifau;  &gh 17180 I rpq;fgg;G+u; nlhyUf;F 
gzkhw;wk; nra;jhu; vdpd; ,tUf;F fpilf;Fk; rpq;fgg;G+u; nlhyu; vj;jid? 

   85.9 &gh   =   1 rpq;fgg;G+u; nlhyu; 
    17180  &gh           

                                                         

1
17180

85.9

17180 10

85.9 10

171800

859

200

 










 

 

        gapw;rpfs; 
 01))    jug;gl;l ntspehl;L ehzaq;fis ,yq;if &ghtpy; jUf. ( NkYs;s  
ml;ltizapd; juTfis gad;gLj;Jf) 
 

ntspehl;L ehzaq;fs; ,yq;if &ghtpy; 
 

1. 500 ];Nuypq; gTz; 
2. 2000 A+Nuh 
3. 250 ag;ghd; nad; 
4. 80 rpq;fg;G+u; nlhyu; 
5. 6000 mnkupf;f nlhyu; 

.......................................... 

.......................................... 

.......................................... 

.......................................... 

.......................................... 
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02) ag;ghdpy; ,Ue;J ,wf;Fkjp nra;ag;gl;l njhiyf;fhl;rp xd;wpd; tpiy ,yq;if        

&ghtpy; 67000 vdpd; ,ij ag;ghd; nad;dpy; jUf. 

 

03) ntspehL xd;wpy; Ntiynra;Ak; egh; xUtupd; khjr;rk;gsk; ,yq;if &ghtpy;  

  &. 356 100 vdpd;  ,J vj;jid ];Nuypq;gTz; ? 

 

 *  Nkyjpf gapw;rpfSf;F Gj;jfj;jpd;  10.5 gapw;rpia nra;f. 
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fzpfUtp ( myF - 11) 
fzpfUtpapYs;s rhtpfSk; mtw;wpd; njhopw;ghLfSk;    

 

 

fzpfUtpia gad;gLj;jpf; fzpj;jy;  
 
cjhuzk; - 1    
 28 + 56  ,d; ngWkhdj;ijg; ngWtjw;Fj; rhtpfisj; njhopw;gLj;j Ntz;ba 
  xOq;FKiw gpd;tUkhW 

 
 
 cjhuzk; - 2 7.5 - 2.3 

 
 
 
     gapw;rpfs; 
 01)  76 + 83       02)  42 + 76 - 25 

   

03)  235 - 143      04)  12 x 4  :  3 

 

  05)  32 x 26                            06)  240  :  12 

   

07)  12.5 + 8.5      08)  97.2 - 48.8 

  

 09)  1.2 x 4.5                 10)  16.5  :   3   
 
 
 
 Nkyjpf gapw;rpfSf;F Gj;jfj;jpd;  11.1 gapw;rpia nra;f. 
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rhjhuz fzpfUtpiaAk; tpQ;Qhdf; fzpfUtpiaAk; 
gad;gLj;jpr; RUf;fy; 

 
   
rhjhuz fzpfUtp -:   xd;Wf;F Nkw;gl;l fzpjr;nra;ifAs;s tpdhf;fis 
RUf;Fk; NghJ rhjhuz fzpfUtpahdJ jug;gl;l xOq;FKiwapNy RUf;Fk; 
cjhuzk; -   

             12  +  4 x 5 

 

tpQ;Qhdf; fzpfUtp-:  xd;Wf;F Nkw;gl;l fzpjr;nra;ifAs;s tpdhf;fis 
RUf;Fk; NghJ tpQ;Qhdf; fzpfUtpahdJ BODMAS  Kiwg;gbNa RUf;Fk; 
 
cjhuzk; -    12  +  4 x 5 

 

     gapw;rpfs; 
 

jug;gl;l fzpjr;nra;iffis rhjhuz fzpfUtp , tpQ;Qhdf; fzpfUtp vd;gtw;wpy;  
RUf;Fk;  xOq;FKiwia  jdpj;jdpahff;fhl;Lf. 
 

   
*  rhjuz fzpfUtpapy; rupahd tpiliag; ngwNtz;Lkhapd; 

 BODMAS Kiwf;F xOq;fpd;gb RUf;fNtz;Lk; 
 
 
 

 tpQ;Qhdf; fzpfUtpapy;   %   rhtpia gad;gLj;Jjy; 
 

 rjhuz fzpfUtpfspy;  ngUk;ghYk;  %  vDk; ,r;rhtp fhzg;gLfpd;wd Mdhy;  

tpQ;Qhdf; fzpfUtpapy;      vDk; rhtp kPJ  %   Fwpf;fg;gl;bUf;Fk; 

mt;thd fUtpy;  %   fhz;gjw;F  Shift   rhtpia njhopw;gLj;jp     rhtpia 

mOj;Jtjd; %yk; fzpf;fyhk; 

cjhuzk; - 1  &gh 5000  ,d;  15% If;fhz;gjw;F gpd;tUk; xOq;F Kiwapy; 
njhopw;gLj;j Ntz;Lk;. 
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cjhuzk; - 2     
     I rjtPjkhfj; jUf. 

 
 
 
 
 
 

 
cjhuzk; - 3 
  &gh 4000 ,w;F nfhs;tdT nra;j nghUnyhd;W &gh 600 ,yhgk; 
itj;J tpw;fg;gl;lJ vdpd; ,yhg rjtPjk; ahJ? 
 

 
 
 

     gapw;rpfs; 
01) fzpfUtpia gad;Lj;jpr; RUf;Ff. 
 

 01)  9000 x  12%     02) 550 x 8% 

 03)  12.5 x 10%    04) 850 x 40% 

 05)  6500 x 4.5%    06) 2400 x 12.5% 

 
 02) fzpfUtpia gad;Lj;jpr; rjtPjkhff; fhl;Lf. 
 
 01)   02)  03)  04)  05) 
 

 03) 2kg ,d;  400g vd;d rjtPjk; ? 
 
 04)  xUtUila tUkhdk; &. 60000 ,jpy; &. 24000 I czTf;fhf nryT 
nra;jhu; vdpd; ,J tUkhdj;jpd; vd;d rjtPjk;? 
   
Nkyjpf gapw;rpfSf;F Gj;jfj;jpd;  11.2 gapw;rpia nra;f 
 
 vz; xd;wpd; tu;f;fj;ijf; fhz;gjw;F ,r;rhtp gad;gLj;jg;gLk; 
 
cjhuzk; - 1  42 ,d; ngWkhdk; fhzy; 
 

 
 

cjhuzk; - 2 2.52 ,d; ngWkhdk; fhzy;  
 

 
 
cjhuzk; - 3 62  +  82 ,d; ngWkhdk; fhzy;  
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     gapw;rpfs; 
 
 01)  122  02)   4.52  03)  32 x 42  04) 102 + 52 

 

 05) 152 - 92  06)  82  :   42  07) 24352  08) 132  - 52 x 3 
 
  Nkyjpf gapw;rpfSf;F Gj;jfj;jpd;  11.3 gapw;rpia nra;f 
 

  tpQ;Qhdf; fzpfUtpapy;  rhtpia gad;gLj;jpf;fzpj;jy; 
 

 xu; vz;zpd; th;f;fKyj;ijf; fhz;gjw;F  rhtp gad;gLj;jg;gLfpd;wJ 

cjhuzk; - 1  

49  ,d; ngWkhdj;ijg; ngWtjw;Fr; rhtpfisj; njhopw;gLj;j Ntz;ba 
xOq;FKiw 
 

 
 
cjhuzk; - 2 

23104   ,d; ngWkhdj;ijg; ngWtjw;Fr; rhtpfisj; njhopw;gLj;j Ntz;ba  
xOq;FKiw 

 
cjhuzk; - 3 

6.25  ,d; ngWkhdj;ijg; ngWtjw;Fr; rhtpfisj; njhopw;gLj;j Ntz;ba 
xOq;FKiw 

 
 
 
      gapw;rpfs; 
 

  
 
 
 
 
   Nkyjpf gapw;rpfSf;F Gj;jfj;jpd;  11.4 gapw;rpia nra;f 
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Rl;bfs; (myF - 12) 

(25) 

 ngUf;fkhfj; jug;gl;lij Rl;btbtpy; vOJf. 

(1) 3 × 3 × 3 × 3 

(2) 𝑎 × 𝑎 × 𝑎 × 𝑎 × 𝑎 × 𝑎 

(3) 2 × 2 × 2 × 𝑦 × 𝑦 

(4) 5 × 5 × 𝑚 × 𝑚 × 𝑚 × 𝑎 × 𝑎 

(5) 2 × 2 × 2 × 2 × 2 × 2 × 𝑝 × 𝑝 
 

 ngUf;fj;jpd; tYit tYf;fspd; ngUf;fkhf vOJjy;. 

   (𝑎 × 𝑏)5  =  𝑎5 × 𝑏5 

   cjhuzk; - (2 × 3 × 5)4 =  24 × 34 × 54 

gapw;rp 

(1) (3 × 𝑦)10 

(2) (2 × 𝑎 × 𝑏)12 

(3) (5 × 2 × 𝑥)6 

(4) (𝑚 × 𝑎 × 𝑏)5  
 

 tYf;fspd; ngUf;fj;ij ngUf;fj;jpd; tYthf vOJjy;. 

𝑚8 × 𝑦8  =  (𝑚 × 𝑦)8 =  (𝑚𝑦)8  

cjhuzk; - 24 × 𝑎4 × 𝑏4 = (2𝑎𝑏)4 

gapw;rp 

(1) 𝑚8 × 𝑛8 

(2) 56 × 𝑦6 × 𝑚6 

(3) 210 × 𝑦10 × 𝑎10 

(4) 56 × 𝑝6 × 𝑞6 
 

 rkdhd mbfis cila tYf;fisg; ngUf;Fjy;. 

cjhuzk; -  32 × 33 

  = 3 × 3 × 3 × 3 × 3 

  = 35 

 MfNt 32 × 33 =  35 

 mbfs; rkdhfTs;s ,uz;L tYf;fs; ngUf;fg;gLk; NghJ mtw;wpd; Rl;bfs; 
$l;lg;gLk;.mj;Jld; ngwg;gLk; tYTk; mNj mbiaf; nfhz;bUf;Fk;. 

 
 
 
 

 

𝑎𝑥 × 𝑏𝑥 = 𝑎𝑥+𝑦 

 

 

Rl;b 

mb 
tY 



12 
nrayl;il – fzpjk;           tl khfhzf; fy;tpj; jpizf;fsk; juk; - 9 

cjhuzk; - 

(1) 54 × 56 =  54+6 =  510 

(2) 28 × 23 × 25 = 28+3+5 =  28+3+5 

(3) 5 × 𝑦8 × 𝑦2 × 𝑦4 = 5𝑦8+2+4 = 5𝑦14 

(4) 𝑎8 × 2𝑏5 × 3𝑎2 × 𝑏6 = 2 × 3 × 𝑎8 × 𝑎2 × 𝑏5 × 𝑏6 =  6𝑎10𝑏11 

gapw;rp 

(1) 𝑥15 × 𝑥10 × 𝑥8 

(2) 3𝑎6 × 2𝑎8 

(3) 𝑚12 × 𝑛8 × 𝑚6 × 𝑛7 

(4) 2𝑥8 × 𝑦9 × 𝑥7 × 5𝑦6 

(5) 𝑎2 × 𝑏3 × 𝑐7 × 𝑎5 × 𝑏2 × 𝑐4 
 Nkyjpf gapw;rpf;F Gj;jfg;gapw;rp 12.1 I nra;f. 
 

 rkdhd mbfis cila tYf;fis tFj;jy;. 

   𝑎5 ÷ 𝑎3 vd;gij 
𝑎5

𝑎3 vd vOjyhk;. 

  
𝑎5

𝑎3 =
𝑎×𝑎×𝑎×𝑎×𝑎

𝑎×𝑎×𝑎
 

= 𝑎 × 𝑎 

= 𝑎2 

 MfNt mbfs; rkdhfTs;s tYf;fis tFf;Fk; NghJ Rl;bahdJ 
tFgLnkz;zpd; Rl;bapypUe;J tFf;Fk; vz;zpd;>Rl;biaf; fopj;Jg; 
ngwg;gLk;.mj;Jld; ngwg;gL;k; tYTk; mNj mbiaf; nfhz;bUf;Fk;. 
 

 

cjhuzk; -  

(1) 215 ÷ 28 (2) 15𝑥2 ÷ 3𝑥5  (3) 
𝑎8×𝑎10

𝑎7  

= 215−8        =
15𝑥2

3𝑥5          = 𝑎8+10−7 

= 27           = 5𝑥12−5          = 𝑎11 

              = 5𝑥7               

 gapw;rp 

(1) 𝑚21 ÷ 𝑚8 

(2) 36𝑦10 ÷ 4𝑦4 

(3) 
48𝑎12

6𝑎5
 

(4) 
𝑥16×𝑥7

𝑥9  

(5) 
8𝑝10×6𝑞15

4𝑝4×2𝑞8  

 Nkyjpf gapw;rpf;F Gj;jfg;gapw;rp 12.2 I nra;f. 
 kiwr;Rl;b 

𝑎𝑥 ÷ 𝑏𝑥 = 𝑎𝑥−𝑦 
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cjhuzk; -  

(1) 5−3 =
1

53
  (2) 

1

7−2
=  72  (3) 3𝑥−2 = 3 ×

1

𝑥2
 =

3

𝑥2
 

 

 

gapw;rp 

(1) 𝑦−8 

(2) 12𝑚−3 

(3) 
2

3
𝑥−9 

(4) 
1

5
𝑎−10 

(5) 
3

𝑥−6 

 ngWkhdk; fhz;f. 

cjhuzk; - 2−3 = 
1

23 

             =
1

2×2×2
 

                =
1

8
 

gapw;rp 

(1) 5−2 

(2) 
1

2−5 

(3) (
2

3
)

−2

 

(4) (
1

3
)

−3

 

(5) 10−3 
 
 

 
 G+r;rpar;Rl;b 

 Rl;b G+r;rpakhf Rl;bapd; tY G+r;rpa Rl;b vdg;gLk;. 
 

 

 

 

 

 

 

𝑎−𝑥 = 
1

𝑎𝑥 

 

  

𝑎0 = 1 
,q;F a G+r;rpaky;yhj NghJ 
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 Rl;br; RUf;fy;fs; NkYk;. 

cjhuzk; -  

      
𝑥8 × 𝑥−4

𝑥−5
=  

𝑥8 × 𝑥5

𝑥4
 

             = 𝑥8+5−4 

          = 𝑥9 

gapw;rp 

(1)  
𝑎−10 × 𝑎8

𝑎−3     (6) 
(2𝑝)−3 × (2𝑝)10

(2𝑝)−2   

(2) 
12𝑦−6 × 5𝑦2

6𝑦−10
 

(3) 
𝑎8 × 𝑎−4

𝑎2 × 𝑎2
 

(4) 
3𝑥12 × 8𝑥8

4𝑥−2  

(5) 
𝑎5 × 𝑏7× 𝑎−2× 𝑏4

4𝑥−2  
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kl;le;jl;lYk; tpQ;Qhd Kiwf;Fwpg;gPLk; ( myF – 13 ) 

tpQ;Qhd Kiwf;Fwpg;gPL 

 1k; 1,Yk; $ba vz;fis tpQ;QhdKiwf; FwpaPl;by; vOJjy;. 

 65 × 10000 = 65 × 104 

 650 × 1000 = 650 × 103 

 6500 × 100 = 6500 × 102 

 6.5 × 100000 = 6.5 × 105 

 65000 × 10 = 65000 × 101 

 65 × 10000 = 65 × 104 

 0.65 × 1000000 = 0.65 × 106 

 NkNy jug;gl;l vz;fis ntt;NtW Kiwfspy; vOjg;gl;Ls;sd.,jpy; 
fl;lkpl;Lf; fhl;lg;gl;l vz; kl;LNk tpQ;QhdKiwf; Fwpg;gPl;by; 
vOjg;gl;Ls;sJ. 

                           6.5 × 105 

 

 1 ,ypUe;J 10 ,w;F ,ilg;gl;l vz; xd;wpdJk; 10 ,d; tYtpdJk; 
ngUf;fkhff; fhz;gpf;Fk; Kiw tpQ;QhdKiwf; Fwpg;gPL vdg;gLk;.  
 

 

cjhuzk; - 

(1) 4850000 

= 4.85 × 1000000 

= 4.85 × 106 
(2) 712.3 

= 7.123 × 100 

= 7.123 × 102 
(3) 6000 

= 6.0 × 1000 

= 6.0 × 103 
 
gapw;rp 
(1) 60500 
(2) 314500000 
(3) 61.8 
(4) 7.65 
(5) 13000000000 

 Nktjpf gapw;rpf;F Gj;jfg;gapw;rp 13.1 I nra;f.  

 

 

 

1 my;yJ 1 ,w;Fk; 10 ,w;Fk; 
,ilg;gl;l Xu; vz; 

10 ,d; tY  

𝐴 × 10𝑛 
,q;F 𝐴 ⇒ 1 ≤  𝐴 < 10 >𝑛 ⇒ xU epiwnaz;. 

 

 



16 
nrayl;il – fzpjk;           tl khfhzf; fy;tpj; jpizf;fsk; juk; - 9 

 0 ,w;Fk; 1 ,w;Fk; ,ilg;gl;l vz;fis tpQ;QhdKiwf; Fwpg;gPl;by; vOJjy; 

cjhuzk; - 

   0.0845 = 8.45 ×
1

100
= 8.45 × 10−2         ⟶ [ 

1

102 = 10−2] 

 

gapw;rp 

(1) 0.867 
(2) 0.000618 
(3) 0.0021 
(4) 0.000007 
(5) 0.00096 

 Nkyjpf gapw;rpf;F Gj;jfg;gapw;rp 13.2 I nra;f. 

 

 tpQ;QhdKiwf; Fwpg;gPl;by; cs;s vz;fisr; rhjhuz tbtpy; vOJjy;. 

cjhuzk; -  

(1) 2.35 × 105    (2) 1.6 × 10−3 

= 2.35 × 100000    = 1.6 ×
1

103  

= 235000     = 1.6 ×
1

1000
 

                         = 0.0016 

gapw;rp 

(1) 4.3 × 104   (6) 1.4 × 10−2 

(2) 7.85 × 103   (7) 3.85 × 10−3 

(3) 1.854 × 102  (8) 2.065 × 10−1 

(4) 2.61 × 107   (9) 6.7 × 10−4 

(5) 9.008 × 103          (10) 4.25 × 10−5 

 Nkyjpf gapw;rpf;F Gj;jfg;gapw;rp 13.3 I nra;f. 
 

vz;fis kl;le;jl;ly; 

 fpl;ba 10>100>1000 ,w;F kl;le;jl;ly; 

 6748 

(1) fpl;baw;F 10 ,w;F     = 6750 

(2) fpl;baw;F 100 ,w;F   = 6700 

(3) fpl;baw;F 1000 ,w;F = 7000 
 

 6748 ,t; vz;zpd; ,Wjp ,yf;fk; 5 ck; 5 ,Yk; mjpfkhapd; mjd; 
gj;jhkplj;J ,yf;fk; 1 ,dhy; mjpfupj;J ,Wjp ,yf;fk; 0 
,lg;gLk;.Fiwthapd; gj;jhkplj;J ,yf;fk; khw;wkilahJ ,Wjpapyf;fk; 
G+r;rpak; ,lg;gLk;. 
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 6748 ,jd; ,Wjp ,U ,yf;fq;fSk; 50 ck; 50 ,Yk; mjpfkhapd; mjd; 
E}whkplj;J ,yf;fk; 1 ,dhy; mjpfupj;J ,Wjp ,U ,yf;fk; 0 
,lg;gLk;.Fiwthapd; E}whkplj;J ,yf;fk; khw;wk; Vw;glhJ.,Wjp ,U 
,yf;fKk; 0 ,lg;gLk;. 

 6748 ,jd; ,Wjp %d;W ,yf;fq;fSk; 500 ck; 500 ,Yk; mjpfkhapd; 
Mapukhkplj;J ,yf;fk; 1 ,dhy; mjpfupj;J ,Wjp %d;W ,yf;fq;fSk; 0 
,lg;gLk;.Fiwthapd; Mapukhkplj;J ,yf;fj;jpy; khw;wk; Vw;glhJ.,Wjp %d;W 
,yf;fq;fSk; 0 ,lg;gLk;. 

 
cjhuzk; 

 18196 I 

(1) fpl;baw;F 10 ,w;F kl;le;jl;Lf     = 18200 

(2) fpl;baw;F 100 ,w;F kl;le;jl;Lf   = 18200 

(3) fpl;baw;F 1000 ,w;F kl;le;jl;Lf = 18000  
 

  gapw;rp 
(1)  

vz;fs; fpl;baw;F 10 
,w;F kl;le;jl;Lf 

fpl;baw;F 100 
,w;F kl;le;jl;Lf 

fpl;baw;F 1000 
,w;F kl;le;jl;Lf 

(1) 1785    

(2) 106810    

(3) 39672    

(4) 18078    

(5) 30769    

  
(2) Xu; vz;iz fpl;ba 100 ,w;F kl;lk; jl;Lk; NghJ 9600 vdg; 

ngwg;gl;lJ.mt; vz;zhf ,Uf;fj;jf;f> 
(1) kpfr;rpwpa KOntz; ahJ? 
(2) kpfg;ngupa KOntz; ahJ? 

 Nkyjpf gapw;rpf;F Gj;jfg;gapw;rp 13.4>13.5 I nra;f.  
 
 

 jrk vz;fis kl;le;jl;ly; 
cjhuzk; -  

 67.817 I 

(1) 1k; jrkjhdj;jpw;F ,w;F kl;le;jl;Lf     = 67.8 

(2) 2k; jrkjhdj;jpw; ,w;F kl;le;jl;Lf    = 67.82 

(3) fpl;ba KOntz;Zf;F kl;le;jl;Lf    = 68 
 

 
 
 
 
 
 
 
 
 



18 
nrayl;il – fzpjk;           tl khfhzf; fy;tpj; jpizf;fsk; juk; - 9 

gapw;rp 
(1) jug;gl;l vz;fis fpl;ba Kjyhk; jrk jhdj;jpw;F kl;le;jl;Lf. 

(1) 16.86   (2) 137.61   (3)748.69   (4)110.96   (5)6.748 
 

(2)  

vz;fs; 1k; jrkjhdk; 2k; jrkjhdk; fpl;ba KOntz;  

(1) 9.874    

(2) 10.169    

(3) 315.765    

(4) 70.916    

(5) 1.894    

 

 Nkyjpf gapw;rpf;F Gj;jfgapw;rp 13.6 I nra;f. 
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. r 

A B 

xOf;FfSk; mikg;GfSk; ( myF – 14 ) 

 mbg;gil ehd;F xOf;FfSk;> 
(1) tl;lk; 
(2) nrq;Fj;J ,U$uhf;fp 
(3) Nfhz ,U$uhf;fp 
(4) rkhe;juk; 

 

 tl;lk; 

 xU epiyj;j Gs;spapy; ,Ue;J khwhj;J}uj;jpy; ,Uf;Fk; Gs;spfspd; xOf;F 
xU tl;lkhFk;. 

 
 
 
 
 

gapw;rp 

(1) Gs;sp xd;wpypUe;J 3Cm khwhj;J}uj;jpy; mirAk; Gs;spapd; xOf;if 
tiuf. 

(2) (1) AB=5Cm MfTs;s Neu;Nfhl;il tiuf. 

(2) Gs;sp A ,ypUe;J 4Cm khwhj;J}uj;jpy; mirAk; Gs;spapd; xOf;if 
tiuf. 

(3) Gs;sp B ,ypUe;J 2Cm khwhj;J}uj;jpy; mirAk; Gs;spapd; xOf;if 
tiuf. 

(4) ,U xOf;FfSk; re;jpf;Fk; Gs;spfis x,y vdg; ngaupLf. 
 

 nrq;Fj;J ,U$uhf;fp 

 ,U epiyj;j Gs;spfspypUe;J rkJ}uj;jpy; cs;s Gs;spapd; xOf;F mt;tpU 
Gs;spfisAk; njhLf;Fk; Nfhl;bd; nrq;Fj;J ,U$uhf;fpahFk;. 

  
                                                                                                                                 
 
 
 
 
 
 
 
 
 
 
 

gapw;rp 

(1) (1) PQ=8Cm MfTs;s Neu;NfhL xd;iw tiuf. 

(2)Gs;spfs; P,Q ,w;F rk J}uj;jpy; mirAk; xOf;if tiuf.    
  

(2) (1) AB=6.5Cm MfTs;s Neu;NfhL AB I tiuf. 

(2) AB ,d; nrq;Fj;J ,U$uhf;fpia tiuf. 
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d d 

 

 Nfhz ,U$uhf;fp 

 xd;iwnahd;W ,ilntl;Lk; ,U Neu;NfhLfspypUe;J rkJ}uj;jpy; ,Uf;Fk; 
Gs;spfspd; xOf;F mt;tpU NfhLfSk; ,ilntl;Ltjdhy; cz;lhFk; 
Nfhzj;jpd; ,U$uhf;fpahFk;.  

                                                                                                                                                          
 
 
 

 
 
 
 

gapw;rp 

(1) (1) 𝐴𝐵̂𝐶 = 50° MFkhW 𝐴𝐵̂𝐶 I ghifkhdpia gad;gLj;jp mikf;Ff. 

(2) gf;fq;fs; AB,BC ,w;F rkJ}uj;jpy; mirAk; Gs;spapd; xOf;if 
tiuf. 

 (2) (1) 𝑃𝑄̂𝑅 = 110° MFkhW 𝑃𝑄̂𝑅 I mikf;Ff. 

   (2) 𝑄̂𝑅 ,d; ,U$uhf;fpia tiuf. 
 

 rkhe;juk; 

 xU Neu;Nfhl;bypUe;J khwhj;J}uj;jpy; ,Uf;Fk; Gs;spfspd; xOf;fhdJ 
me;Neu;Nfhl;bw;Fr; rkhe;jukhf mk;khwhj;J}uj;jpy; Neu;Nfhl;bd; ,U 
gf;fq;fspYk; ,Uf;Fk; ,U Neu;NfhLfshFk;.  

 
                                                                                                                                                                                  
 
 
 
 

 ntspg;Gs;sp xd;wpypUe;J Xu Neu;Nfhl;Lf;F nrq;Fj;J mikj;jy;. 

 ntspg;Gs;spapypUe;J jug;gl;l xU Neu;Nfhl;bw;F ftuhaj;jhy; tpy;ntl;b 
mt;tpy; Nfhl;il ntl;Lk; Gs;spapypUe;J nrq;Fj;J tiujy;.  

 fzpjg;Gj;jfj;jpy; 60k; gf;fj;ij ghu;f;f. 
 

 Nfhzk; mikj;jy; 

 ftuhaj;ijg; gad;gLj;jp 30°, 60°, 45°, 90°, 120°, 135°, 75°, 105° Nghd;w 
Nfhzq;fis mikf;Fk; Kiwfs; fzpjg;Gj;jfj;jpy; 66k; gf;fk; njhlf;fk; 
69k; gf;fk; tiu fhl;lg;gl;Ls;sJ.mij mtjhdpf;Ff. 

 
gapw;rp 

(1) (1) 7Cm MfTs;s Neu;Nfhl;il tiue;J mij PQ vd ngaupLf. 

(2)PQ I xU Gakhf nfhz;L Gs;sp P ,y; 60° mikf;f. 

(3) PQ I xU Gakhf nfhz;L Gs;sp Q ,y; 30° mikf;f.   
(4)mikg;Gf;NfhLfis cfe;jthW ePl;Ltjd; %yk; mtw;wpd; ntl;Lg;Gs;spia 

R vd ngaupl;L Kf;Nfhzp ABC Ig; G+uzg;gLj;Jf. 
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(2) (1)𝐵𝐶 = 7.5𝐶𝑚, 𝐴𝐵̂𝐶 = 60°, 𝐴𝐵 = 6𝐶𝑚 MfTs;s ∆𝐴𝐵𝐶 I mikf;Ff. 

(2)Gs;spfs; A,B ,ypUe;J rkJ}uj;jpy; mirAk; Gs;spapd; xOf;if tiuf. 

(3)Gs;spfs; B,C ,ypUe;J rkJ}uj;jpy; mirAk; Gs;spapd; xOf;if tiuf. 

(4),U xOf;FfSk; re;jpf;Fk; Gs;spia X vdg; ngaupLf. 

(5)X I ikakhfTk; AX I MiuahfTk; nfhz;l tl;lj;ij tiuf. 
(6)mjd; Miuia mse;njOJf. 
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     rkd;ghLfs; (myF - 15) 
 
 vspa rkd;ghLfisj; jPu;;j;jy;  
 
cjhuzk; - 1    

 cjhuzk; -2 
 
                                       
 
 
 
 
 
 
   
 
 
gapw;rp 
 
01) 7x - 3 = 32      02) 2a + 5 = 29 
 

03) 
4

1 9
3

a
        04) 

2
3 5

5

y
   

 
 

05)        
3 2

3 8
4

t 
        06) 4(3 1) 20x   

 
 
  ,uz;L milg;GfSldhd rkd;ghLfisj; jPu;j;jy; 
 
milg;Gf;Fwpfs; ,Lk; xOq;F Kiw 
 
   (   )   -   vspa milg;G  
 

       -   rq;fpyp milg;G 

 

      - ,ul;il milg;G 
 
cjhuzk; - 1 
 
        
 
 
 

 

 

 

 

 

 

5
2 3

4

5
2 2 3 2

4

5
5

4

5
4 5 4

4

5 20

4

y

y

y

y

y

y

 

   



  





3 7 25

3 7 7 25 7

3 18

3 18

3 3

6

x

x

x

x

x

 

   







  

  

 

5 2 3 1 95

5 2 3 1 95

5 5

2 3 1 19

6 2 19

7 2 19

7 21

3

x x

x x

x x

x x

x

x

x

  

 


  

  

 




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myF-16 Kf;Nfhzpapd; Nfhzq;fs; 

ePq;fs; mwpe;jit-  

1-xU Neu;Nfhl;bd; kPJ ,d;ndhU Neh;NfhL ep;w;gjhy; cz;lhFk; mLj;Js;s 
Nfhzq;fspd; $l;Lj;njhif ,uz;L nrq;;Nfhzq;fs; MFk; 

ACD+BCD=180
0

 

 

2- xU Gs;spia Rw;wpAs;s Nfhzq;fspd; $l;Lj;njhif 360 MFk;. 

 𝑎 + 𝑏 + 𝑐 + 𝑑 = 360 

3-,uz;LNeu;NfhLfs; xd;iw xd;W ,ilntl;Lk;NghJ cz;lhFk; Fj;njjpu;f; 
Nfhzq;fs; xd;wpw;nfhd;W rkdhFk; 

AOC=BOD,AOD=BOC 

4-,U rkhe;ju Neu;NfhLfis xU NfhL ,ilntl;Lk;NghJ cz;lhFk; 

  1)xj;j Nfhzq;fs; rkdhFk; 

  2)xd;Wtpl;lNfhzq;fs; rkdhFk; 

  3)Neaf;Nfhzq;fspd; $l;Lj;njhif      ,uz;Lnrq;Nfhzq;fs; MFk; 

5-xU Kf;Nfhzpapd; %d;W Nfhzq;fspdJk; $l;Lj;njhif ,uz;L nrq;Nfhzq;fs; 
MFk; 



26 
nrayl;il – fzpjk;           tl khfhzf; fy;tpj; jpizf;fsk; juk; - 9 

6-ehw;;gf;fypd; mff;Nfhzq;fspd; $l;Lj;njhif360𝑜 MFk;. 

7 Kf;Nfhzp xd;wpdJk; ehw;;gf;fy; xd;wpdJk;  Gwff;Nfhzq;fspd; $l;Lj;njhif360𝑜 
MFk;. 

kPl;lw; gapw;rp-   a,b,c   Mfpatw;wpd; ngWkhdq;fisf; fhz;f.  

                          

 

  

Njw;wk;-;    

 Kf;Nfhzp xd;wpd; mff;Nfhzq;fspd; $l;Lj;njhif ,U 
nrq;Nfhzq;fs; MFk;.  

a+b+c=1800 

gapw;rp- a,b,c   Mfpatw;wpd; ngWkhdq;fisf; fhz;f.      

1      2        3   
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4-   5  

6-               7-  

8-Kf;Nfhzp ABC ,y; 𝐴̂ + 𝐵̂=1100, 𝐶̂ + 𝐵̂=1200 MFk;. 𝐴̂, 𝐵̂, 𝐶̂ Mfpatw;wpd; gUkd;fisf; 
fhz;f.   

Njw;wk;- 

XU Kf;Nfhzpapd; xU gf;fj;ij ePl;l cz;lhFk; Gwf;Nfhzk; mjd; 
mfj;njjpu;f;Nfhzq;fspd; $l;Lj;njhiff;Fr; rkdhFk; 

c=a+b 

gapw;rp- a,b,c   Mfpatw;wpd; ngWkhdq;fisf; fhz;f.      

1    2   

 

a 

2
a 

3
a 
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3-       4 

5-      

6-7-   8- 

                

 

9-             10-      
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myF-17  #j;jpuq;fs;; 

17-1 xU #j;jpuj;jpy; cs;s Xu; cWg;ig vOthahf khw;Wjy; 

l=a+(n-1)d     n I votha;ahf khw;wy; 

l=a+(n-1)d  ,U gf;fq;fSk; a I fopj;jy;; 

l-a= (n-1)d       

l-a= (n-1)d  ,U gf;fq;fSk;; d My; tFj;jy; 

  
𝑙−𝑎

𝑑
=n-1 

  
𝑙−𝑎

𝑑
=n-1,U gf;fq;fSk; 1 I $l;ly; 

   
𝑙−𝑎

𝑑
+ 1 = 𝑛 

  n= 
𝑙−𝑎

𝑑
+ 1 

gapw;rp- milg;Gf;Fs; fhl;lg;gl;ltw;iw votha;ahf;Ff. votha;ahf 

  1.  v=u+at      (u)                            6. v=u+at          (a) 

2.Y=mx +c      ( c )                         7. V=IR            ( R ) 

       3.C=𝜋𝑑           ( 𝜋)                             8. C=2𝜋𝑟             (r ) 

       4. l=a+(n-1)d     (a)                         9.l=a+(n-1)d      (d ) 

       5.
1

𝑅
=

1

𝑟1
+

1

𝑟2
      (r1 )                      10. 

1

𝑓
=

1

𝑣
+

1

𝑢
          (v) 

  17-2 gpujpapL   

1-v=u+ at vd;Dk; #j;jpuj;jpy; u=30,a=4,t=20 vdpd; I fhz;f. 

v=u+at 

 =30+4 X 20 =30+80=110 
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2. 
1

𝑓
=

1

𝑣
+

1

𝑢
 vd;Dk; #j;jpuj;jpy; v=30,u=15vdpd; f I fhz;f. 

1

𝑓
=

1

𝑣
+

1

𝑢
    

   =
1

30
+

1

15
    

  =
1

30
+

2

30
   

       =
3

30
    

3f=30 

f=10 

17-2 gapw;rp 

    1.v=u+ at vd;Dk; #j;jpuj;jpy; 

(1)  t votha;ahf;Ff. 

(11) v=30,u=10,a=5 vdpd; t ,d; ngWkhdj;ijf; fhz;f. 

2. C=2𝜋𝑟 vd;Dk; #j;jpuj;jpy; c=44,𝜋 =
22

7
 ;vdpd; r ,d; ngWkhdj;ijf; fhz;f. 

3. C =
5

9
(𝑓 − 32)  #j;jpuj;jpy; f=44 ; vdpd; C ,d; ngWkhdj;ijf; fhz;f. 

4. C=𝜋𝑑     vd;Dk; #j;jpuj;jpy; 

  1 𝜋 I votha;ahf;Ff. 

  11. C=88,d=28 vdpd; 𝜋 ,d; ngWkhdj;ijf; fhz;f. 

5. . 
1

𝑓
=

1

𝑣
+

1

𝑢
 vd;Dk; #j;jpuj;jpy;. 

   1.v I votha;ahf;Ff.  f=20,u=40 vdpd; v ,d; ngWkhdj;ijf; fhz;f. 
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myF-18  xU tl;lj;jpd; gupjp;; 

kPl;lw; gapw;rp .,t;tTUit mtjhdpj;J tpil jUf. 

1.  Gs;sp O vt;thW miof;fg;gLk;?            

11.  NfhL OA vt;thW miof;fg;gLk;? 

111. tpl;lk; vf; Nfhl;bdhy; fhl;lg;gl;Ls;sJ? 

1v.   NfhL DE vt;thW miof;fg;gLk;? 

V.   OA ,d;; ePsk; 4cm vdpd; BC ,d; ePsj;ijf; fhz;f. 

V1.; Miu r cila tl;lj;jpd; tpl;lk; d vdpd; d,r ,w;FkpilNa cs;s 
njhlu;igf; fhl;Lk; rkd;ghl;il vOJf. 

tl;lj;jpd; gupjpf;Fk; tpl;lj;jpw;Fk; ,ilapyhd njhlu;G 

tl;lj;jpd; gupjpf;Fk; tpl;lj;jpw;Fk; ,ilapyhd  tpfpjk;  xU khwhg; ngWkhdkhf 

mike;jJ.    ,g; ngWkhdk; mz;zsthf 3.14 my;yJ mz;zsthf 
22

7
   

epWtg;gl;Ls;sJ.,g;ngWkhdk; 𝜋  ,dhy; fhl;lg;gLk;.     

𝐶

𝐷
= 𝜋𝜋 

                              C=𝜋𝑑  or  C=2𝜋𝑟   

cjhuzk;-  tl;lmnkhd;wpd; tpl;lk; 14cm vdpd; Rw;wsitf; fhz;f. 

         C=𝜋𝑑   

                    =
22

7
× 14=44cm 
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gapw;rp18-1 

1.gpd;tUk; Miufis/tpl;lq;fisf; nfhz;l tl;lq;fspd; gupjpiaf; fhz;f.( 𝜋 =
22

7
   vdf; nfhs;f). 

1.Miu 7cm                            5.tpl;lk; 7cm 

2. Miu 21cm                         6. tpl;lk; 28cm  

3 Miu 3.5cm                          7. tpl;lk; 30.8cm 

4; Miu 17
1

2
𝑐m                        8. tpl;lk; 5

8

11
cm 

2.gpd;tUk; Miufis/tpl;lq;fisf; nfhz;l tl;lq;fspd; gupjpiaf; fhz;f.( 𝜋 =
3.14   vdf; nfhs;f) 

1.Miu 10cm                             3. tpl;lk; 4cm 

2. Miu 50cm                           4. tpl;lk; 30cm 

3.gpd;tUk; Rw;wsitf;; nfhz;l tl;lq;fspd;; Miufis fhz;f.( 𝜋 =
22

7
   vdf; 

nfhs;f). 

1.88cm                                        3.96.8cm 

2.22cm                                        4.220cm 

                   miu tl;lj;jpd;; Rw;wsT 

 

 

miu tl;lj;jpd; tpl;lk; 14cm vdpd; mjd; Rw;wsitf; fhz;f.T 

miu tl;lj;jpd;; Rw;wsT = 
1

2
𝜋𝑑 + 𝑑 

                                         =
1

2
×

22

7
× 14 + 14 

                                                   =22+14=36cm 
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1..gpd;tUk; Miufis/tpl;lq;fisf; nfhz;l miu tl;lq;fspd; Rw;wsitf; 

fhz;f.( 𝜋 =
22

7
   vdf; nfhs;f). 

1.Miu 7cm                               111.3. tpl;lk; 28cm 

11. Miu 10.5cm                        1v4. tpl;lk; 10.5cm 

 

2- xu; miu tl;l mlupd;; Rw;wsT 54cm vdpd; mjd; tpl;lj;jpd; ePsk; vt;tsT? 

 

3- gpd;tUk; cUf;fspd; Rw;wsTfisf; fhz;f. 
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myF-19  igjfurpd; njhlu;G 

nrq;Nfhz Kf;Nfhzp- 

Kf;Nfhzp xd;wpd; XU Nfhzk;  nrq;Nfhzk;  900vdpd; mJ 
nrq;Nfhz Kf;Nfhzp vdg;gLk;.mjpy; nrq;Nfhzj;Jf;F vjpuhd gf;fk; 
nrk;gf;fk; vdTk; Vida ,uz;L gf;fq;fs; nrq;Nfhzj;ij Mf;Fk; 
gf;fq;fs; vdTk; miof;fg;gLk;.  

  

,jpy; 𝐴𝐶̂𝐵 = 900   AB vd;gJ nrk;gf;fk; ,AC,BC vd;gd nrq;Nfhzj;ij 
Mf;Fk; gf;fq;fs; MFk;. 

            igjfurpd; njhlu;G       

 xU nrq;Nfhz Kf;Nfhzpapd; nrk;gf;fj;jpy; mikfpd;w rJuj;jpd; 
gug;gsT> nrq;Nfhzj;ij Mf;Fk; gf;fq;fspd; kPJ tiuag;gl;Ls;s 
rJuq;fspd; gug;gsTfspd; $l;Lj;njhiff;Fr; rkdhFk;.  
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cjhuzk;  

 

 

 

                 

                                     gapw;rp 

1. rha;rJuk; ABCD ,d; %iytpl;lk; BD=  16cm,AC=12cm MFk;. Mit O ,y; 
xd;iwnahd;W nrq;Fj;jjhf ,Urk$wpLfpd;wd.rha;rJuj;jpd; Rw;wsitzf; 
fhz;f. 

2. rJuk; ABCD ,d; %iytpl;lk; AC=12cm mjd; gug;gsitf; fhz;f. 

3. nrt;tfk; ABCD ,d; gf;fk; AB=24cm %iytpl;lk; AC=25cm vdpd; mjd; 
gug;gsitf; fhz;f. 

4. 13m ePskhd Vzp RRTtupd; mbapy;ypUe;J 5m Jhuj;jpuy; rha;thf 
itf;fhg;gl;lJ. Vzpapd; kWKid Rtupd; vt;tsT cauj;jpy; ,Uf;Fk;. 

 

 

 

 

 

BC ,d; ePsj;ijf; fhz;f.𝐵𝐶2 = 𝐴𝐵2 + 𝐴𝐶2                                     

  = 52 + 122                                     

=25+144                                                                                

=169                                                                        

BC=√169=13cm 
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5. xt;nthU cUtpYk; ml;ruj;jhy; Fwpf;fg;gl;l gf;fj;jpd; ePsj;ijf; 
fhz;f. 

                  

1.                              2. 

3.           4.  
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tiuGfs; ( myF-20) 
 
 Neu;Nfhl;Lr;rkd;ghLfs; 
 

     y = mx + c      vDk; rkd;ghl;by; 
 

   m - gbj;jpwd; 

  c - ntl;Lj;Jz;L 
 
 cjhuzk; - 1       cjhuzk; - 2 

 y = 3x + 2       y = -2x + 5 

 gbj;jpwd; =   3           gbj;jpwd; =  -2  

 ntl;Lj;Jz;L  = 2       ntl;Lj;Jz;L = 5 
 
cjhuzk; - 3 

 3y = 2x - 9 

 
2

3
3

y x   

 gbj;jpwd; = 
2

3
 

 ntl;Lj;Jz;L = -3  
  
 
 gapw;rp  
 
jug;gl;l Neu;Nfhl;Lr; rkd;ghLfspd; gbj;jpwd;> ntl;Lj;Jz;L vd;gtw;iwf; fhz;f. 
 

  
 
 y = mx tbtpyhd Neu;Nfhl;L rkd;ghLfspd; tiuig tiujy; 
 

  cjhuzk; - 1  y = 3x       
  

 
(-3,-9) ,(-2,-6), (-1,-3) ,(0,0) , (1,3) , (2,6) , (3,9) 
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gapw;rpfs;  :    jug;gl;l rkd;ghLfspd; tiuig tiuf. 
 

  
 

 05) ml;ltizia epug;gp tiuig tiuf. 

                                               
2

3
y x  

 

 
 

   

y = mx + c vDk; tbtpyhd Neu;Nfhl;L tiuig tiujy; 

 

cjhuzk; - 1 
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      gapw;rp  
   
01)  01) 4y x       02) 3 2y x   
 
 
  03) 2 5y x       04) 3y x    
 
 
  05) 2 5y x   
 
02)   ml;ltizia epug;Gtjd; Kyk; tiuig tiuf. 
 

1
3

2
y x   

 

 
 
03)  3 2 6y x   vDk; rkd;ghl;by;  
 
  i)  y  I vOthahf khw;Wf. 
 
  ii) nghUj;jkhd mstpilia  njupT nra;J ml;ltizia epug;Gf. 
 
  iii)  ,jd; tiuig tiuf.        
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   tiugpypUe;J gbj;jpwd; , ntl;Lj;Jz;L   
       vd;gtw;iwf; fhzy; 
 

 
 
 
 ii) ntl;Lj;Jz;L ahJ? 
   c  =  6 
 
 iii) rkd;ghl;ilf; fhz;f. 
 
   y  = 3x + 6 
gapw;rp 
 
 jug;gl;l tiuGfspd; gbj;jpwd; , ntl;Lj;Jz;L , rkd;ghL vd;gtw;iwf; fhz;f. 

 
 
 
 
 
 
 
 
  


